EARAROBEEIERT — 2 N— IBISH —F

2017511308 (K) 15@EKFH4H

2R WE A A ‘ (X&) 2 ‘ (egEmm@l - | & (A) 12000 WE
[A&4£] 1% :2,700,000 @ 23 :1,080,000 @ 3 3&:675,000 @ 4 3% :405,000 @ 5 7 :270,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< e IR :16. - . - FFEFE (KH)
S H—F Y4 kT o2 S 1(1_6)7 5-3 39.7 7 <4E7) %Hg%
LTIRRAFS AN BiFI¥LTE—L RS
N FOEER 17 = . - IEmEErR (K3H)
Xy A TAF w2 I RN R | snis
L:Jr7—3UT7> B:LTAXT147h ESliEe
= BREB 2 : - — RIR (KH)
hL—24 X5 2 g oy A ! (457) ZigE%
RYIRG 4 I52 B: A4 34Tk =ite)
R . SEraR . - — WEIAZ (Z\HK)
NS URAS (S B2 T (11.117/.5 3-4 40.7 6 (530) E#M—“
RL:b—tPkvLARY BT —Fr> BL A
oS S 4 2 | BEXEH 1:18.9 7-7 40.7| — 5 438 | BEBK (KFH)
5|55 | Ny YALTNyY 54.0 ®) (—) |EXMET
L:O—-X¥x> 746 B2y 7207 HEE &
. 42 | tEAEE 1:19.6 1-1 432 — 2 451 | BER (KH)
617 7 IXTY<w—1 > 55.0 (3 1/2) (—) %KE%K
L:HT/RF47 B:vabIrI> RS
7S _ # 2 | KE&Z 1:19.7 2-2 43.2| — 1 486 |HBEZ (KH)
4 - DEESAEL 55.0 (1/2) (—) | FAEE
Lox4n BiAUALHETIY I L4535
@ 1 — S —EBIEf
13—7+—
20—F—
Jol=5r= 7,6,3,4,2,1,5
40—+ — 7,6,2,3,1,4,5
[ N3
B OB 2 2,970 714K 1-2 2,810 B = 1-2 6,310H 3EHE 1-2-4 12,430H
BB 2 1,910 2-4 2,190 B H 2-1 18,200 K31 2-1-4 130,950
1 400M 1-4 1,210

ABICOVWTRDTEEERROODE. TR LIV,




